BID OPENING DATE: **BID OPENING LOCATION:** TABULATION BY: **TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS JUNE 26, 2024 LJA ENGINEERING, INC. D. FORREST JUNE 27, 2024 1988-410008 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	TOTAL AMOUNT BID INCLUDING ALTERNATE BID NO. 1	TOTAL AMOUNT BID INCLUDING ALTERNATE BID NO, 2	TOTAL AMOUNT BID INCLUDING ALTERNATE BID NO, 3
1) LARRY YOUNG PAVING INC.	\$1,605,001,50	\$3,027,575.50	\$4,096,258,50	\$3,897,228,00
2) TEXAS MATERIALS GROUP, INC.	\$1,891,483.40	\$3,236,615.40	\$4,346,935.40	\$4,166,779,40
3) DURWOOD GREENE CONSTRUCTION CO.	\$1,182,674.30	\$3,472,120.30	\$3,658,108.30	\$3,452,138.30
4) ICON GC LLC	\$1,398,000.00	\$3,020,426.90	\$4,297,294.90	\$4,053,295.50
5) R CONSTRUCTION CIVIL, LLC	\$1,497,526.00	\$3,467,484.00	\$4,272,466.00	\$4,010,980.00
6) CE BARKER LTD.	\$1,394,274.10	\$3,426,122.10	\$4,611,398.10	\$4,480,926.10
7) TLC CONSTRUCTION CONTRACT SERVICES, INC.	\$1,946,116.40	\$3,745,638.40	\$5,161,296.40	\$4,893,978.40
CALENDAR DAYS - 60/70		gine	AMAI	TE OF TELLS

AMANDA CARRIAGE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS JUNE 26, 2024 LJA ENGINEERING, INC. D. FORREST JUNE 27, 2024

LJA JOB NO				JUNE 27, 2024 1968-41000B (9.2)					
				1) LARRY YOUNG	PAVING INC.	2) TEXAS MATERIAL	S GROUP, INC.	3) DURWOOD GREENE	CONSTRUCTION CO.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING IMP	ROVEMENT ITEMS-PERMIAN PARKWAY(MAGNOLIA WOODS MUD NO.1)								
1 FULL	CONSTRUCTION STAKING OF PAVING ITEMS, COMPLETE IN PLACE	LS	1	\$61,000.00	\$61,000.00	\$55,000.00	\$55,000.00	\$130,000.00	\$130,000.00
2 6° REI STREI	NFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE NGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	330	\$110.00	\$36,300.00	\$112.00	\$36,960.00	\$80.00	\$26,400.00
3 6" LIM COMP	E-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES ACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	475	\$4.75	\$2,256,25	\$21.00	\$9,975.00	\$5.00	\$2,375.00
DEPTI	FOR SUBGRADE STABILIZATION (3% LIME BY WEIGHT 16 LB/SY PER 6° 1), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL IEER, COMPLETE IN PLACE	TON	3.8	\$410.00	\$1,558,00	\$358,00	\$1,360 40	\$391.00	\$1,485.80
42LB/5	SH MIXTURE FOR SUBGRADE STABILIZATIONN (8% FLY ASH BY WEIGHT, SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ECHNICAL ENGINEER, COMPLETE IN PLACE	TON	10	\$110.00	\$1,100.00	\$182.00	\$1,820.00	\$130.00	\$1,300.00
6 MC 30 PRIOR	PRIME COAT, TXDOT SPEC 310, TO CURE FOR A MINIMUM OF 48/72 HOURS TO PLACEMENT OF TIEM NO. 6, COMPLETE IN PLACE	GAL	8327	\$6,75	\$56,207.25	\$1.50	\$12,490.50	\$4,00	\$33,308,00
7 8" LIM COMP	E/FLY ASH STABILIZED SUB-GRADE MANIPULATION FOR ASPHALT, INCLUDES ACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	29700	\$6.25	\$185,625.00	\$7.00	\$207,900.00	\$4.00	\$118,800.00
PER 8	FOR SUBGRADE STABILIZATION FOR ASPHALT (3% LIME BY WEIGHT, 20LB/SY DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ECHNICAL ENGINEER, COMPLETE IN PLACE	TON	297	\$310.00	\$92,070.00	\$360.00	\$106,920.00	\$391.00	\$116,127.00
WEIGH	SH MIXTURE FOR SUBGRADE STABILIZATION FOR ASPHALT (8% FLY ASH BY 1T, 53LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND DVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	787	\$110.00	\$86,570,00	\$126.00	\$99,162.00	\$130.00	\$102,310.00
10 6° REII COMP	NFORCED CONCRETE CURB (PER MONTGOMERY COUNTY SPECIFICATIONS), LETE IN PLACE	LF	78	\$46.00	\$3,588.00	\$3,50	\$273.00	\$40.00	\$3,120.00
11 6" REII COMP	NFORCED CONCRETE CURB WITH STEEL PLATE (SEE DETAIL ON PLANS), LETE IN PLACE	LF	1235	\$120,00	\$148,200.00	\$150,00	\$185,250.00	\$80.00	\$98,800.00
INCLU	ANENT TRAFFIC CONTROL DEVICES AS PER DETAILS ON THE PLANS, DING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT NG, MARKER, ETC., COMPLETE IN PLACE	LS	1	\$34,000.00	\$34,000.00	\$66,300,00	\$66,300,00	\$42,000.00	\$42,000.00
13 4" SQL LOCAT	IARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE HYDRANT ION, COMPLETE IN PLACE	EA	10	\$20,00	\$200,00	\$17.00	\$170.00	\$20,00	\$200,00
14 WHEE	LCHAIR RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	18	\$1,000.00	\$18,000.00	\$3,200.00	\$57,600.00	\$2,800.00	\$50,400.00
15 EXTRA	SIGN, COMPLETE IN PLACE	EA	1	\$950,00	\$950.00	\$770.00	\$770.00	\$500.00	\$500.00
BEAMS	ORAIL (AS PER TXDOT DETAILS ON PAGE 38), INCLUDES INSTALLING METAL B, MOW STRIP (PER SHEET 36) AND ALL OTHER APPURTENANCES, LETE IN PLACE	LF	870	\$110.00	\$95,700.00	\$157.00	\$136,590.00	\$140.00	\$121,800,00
17 REMOV	/E EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$690,00	\$1,380.00	\$900.00	\$1,800.00	\$10,00	\$20.00
18 TYPE!	II BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	11	\$1,600,00	\$17,600.00	\$1,300.00	\$14,300.00	\$1,500.00	\$16,500.00
19 FINAL	GRADING OF ROADWAY, COMPLETE IN PLACE	LS	1	\$14,000.00	\$14,000,00	\$87,000.00	\$87,000.00	\$35,000.00	\$35,000.00

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
JUNE 26, 2024
LJA ENGINEERING, INC.
D. FORREST
JUNE 27, 2024

2) TEXAS MATERIALS GROUP, INC.

3) DURWOOD GREENE CONSTRUCTION CO.

1) LARRY YOUNG PAVING INC.

1968-41000B (9.2)

				,		z, revolution	o ortoor, irto.	3) DORWOOD GREENE C	ONSTRUCTION CO.
-	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	20 PAVING HEADER, AS PER MONTGOMERY COUNTY CRITERIA, COMPLETE IN PLACE	LF	278	\$36,00	\$10,008.00	\$27.00	\$7,506.00	\$15.00	\$4,170,00
	21 COMMON ROADWAY EXCAVATION TO BE HAULED APPROXIMATELY 0.5 MILES USING OFF-ROAD TRUCKS TO ADJACENT SITE, INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	8630	\$11.00	\$94,930.00	\$18,00	\$155,340.00	\$6,00	\$51,780,00
	22 IRRIGATION SLEEVE, 6° PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	1692	\$12.00	\$20,304.00	\$24.00	\$40,608.00	\$40,00	\$67,680.00
	23 IRRIGATION SLEEVE,4° PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	675	\$11.00	\$7,425.00	\$21.00	\$14,175.00	\$35,00	\$23,625.00
	24 CONNECT PROPOSED ASPHALT PAVEMENT TO EXISTING ASPHALT PAVEMENT AT FM 1486, INCLUDES 2 FOOT SAWCUT, AND ALL APPURTENANCES TO MAKE THE CONNECTION, COMPLETE IN PLACE	LF	65	\$51,00	\$3,315.00	\$115,00	\$7,475.00	\$70.00	\$4,550.00
	25 AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, ROW, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LIA ENGINEERING, INC., BENJAMIN LOWE, 713.953.5293 ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS	1	\$13,500,00	\$13,500.00	\$13,500,00	\$13,500,00	\$13,500.00	\$13,500,00
	26 TEMPORARY TRAFFIC CONTROL AS PER TXDOT STANDARDS FOR THE CONNECTION AT FM 1486, INCLUDING BARRELS, CONES, FLAGMEN, STRIPING, BUTTONS, TEMPORARY SIGNAGE, ETC. AS NEEDED TO MAKE CONNECTION AT EXISTING FM 1486, COMPLETE IN PLACE.	LS	1	\$9,100.00	\$9,100.00	\$3,300.00	\$3,300.00	\$15,000,00	\$15,000,00
	27 10' WIDE, 4" REINFORCED CONCRETE WALKWAY TO BE FLUSH WITH ASPHALT PAVEMENT AT MEDIAN CROSSINGS, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	SY	188	\$110.00	\$20,460.00	\$133,00	\$24,738.00	\$80.00	\$14,880.00
P	PAVING IMPROVEMENT ITEMS-PERMIAN PARKWAY(MAGNOLIA WOODS MUD NO.1) SUBTOT	TAL:			\$1,035,346.50		\$1,348,282.90		24 000 000 00
P	PAVING MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1)				V 1,1000,10100	,	41,340,202.50		\$1,095,630.80
	1 STANDARD DEDUCT FOR STREET CLEANING, (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	\$65.00	\$0.00	\$0.00	\$0.00	-\$125.00	\$0.00
	2 STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$500,00	\$0,00	\$0.00	\$0.00	-\$1,000.00	\$0.00
	3 SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OFDEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$8,500.00	\$8,500.00	\$11,600.00	\$11,600.00	\$20,000.00	\$20,000,00
	4 ADDITIONAL 8" LIME-FLY ASH STABILIZED SUB-GRADE FOR ASPHALT (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIEDPROCTOR DENSITY, COMPLETE IN PLACE	SY	29700	\$7,00	\$207,900.00	\$7.00	\$207,900.00	\$0.20	\$5,940,00
	5 ADDITIONAL LIME FOR SUBGRADE STABILIZATION FOR ASPHALT (3% LIME BY WEIGHT 20 LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	297	\$310.00	\$92,070.00	\$360.00	\$106,920.00	\$10.00	\$2,970.00
	6 ADDITIONAL CEMENT STABILIZIED FOR SUBGRADE STABILIZATION FOR ASPHALT (6% CEMENT STABILIZED SAND BY WEIGHT, 43.2 LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	641.5	\$260.00	\$166,790.00	\$225.00	\$144,337.50	\$15.00	\$9,622.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS JUNE 26, 2024 LJA ENGINEERING, INC. D. FORREST JUNE 27, 2024 1988-410008 (9.2)

				1) LARRY YOUNG	PAVING INC.	2) TEXAS MATERIA	LS GROUP, INC.	3) DURWOOD GREENE	CONSTRUCTION CO.
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7	REGRADING OF EXISTING ROADSIDE DITCHES ALONG PERMIAN PARKWAY TO EXISTING OR BETTER CONDITIONS, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	6073	\$15.00	\$91,095.00	\$11.00	\$66,803.00	\$7.00	\$42,511.00
	REGRADING, HAUL, AND SEEDING OF EXISTING ROADSIDE DITCH ALONG FM 1486, COMPLETE IN PLACE	LF	120	\$27.50	\$3,300,00	\$47.00	\$5,640,00	\$50.00	\$6,000.00
PAVI	NG MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1) SUBTOTAL:				\$569,655.00		\$543,200.50		\$87,043.50
ALTE	ERNATE BID NO. 1 ITEMS						00/0/200		\$01,043.50
1	TYPE "D" HMAC PAVING, INCLUDING A TXDOT APPROVED TRAIL PRODUCT USED AS A TACT COAT, COMPLETE IN PLACE	SY	25814	\$25.00	\$645,350.00	\$22,00	\$567,908.00	\$36.00	\$929,304.00
2	10" LIMESTONE FLEXIBLE BASE FOR ASPHALT, AS APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	SY	27758	\$28,00	\$777,224.00	\$28 00	\$777,224.00	\$49.00	\$1,360,142.00
ALTE	RNATE BID NO. 1 ITEMS SUBTOTAL:				\$1,422,574.00		\$1,345,132.00		\$2,289,446.00
ALTE	ERNATE BID NO. 2 ITEMS					1 7	0.10.101.101.00		42,208,440.00
. 1	TYPE "D" HMAC PAVING, INCLUDING A TXDOT APPROVED TRAIL PRODUCT USED AS A TACT COAT, COMPLETE IN PLACE	SY	25814	\$25,00	\$645,350,00	\$22.00	\$567,908.00	\$26.00	\$671,164.00
2	10" ASPHALT TREATED BASE (TXDOT 282 BLACK BASE), TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE.	SY	27758	\$86.50	\$1,845,907,00	\$68,00	\$1,887,544.00	\$65,00	\$1,804,270.00
ALTE	RNATE BID NO. 2 ITEMS SUBTOTAL:				\$2,491,257.00		\$2,455,452.00		\$2,475,434.00
ALTE	RNATE BID NO. 3 ITEMS								42,410,404.00
1	TYPE "D" "4" HMAC PAVING, INCLUDING A TXDOT APPROVED TRAIL PRODUCT USED AS A TACT COAT, COMPLETE IN PLACE	SY	25814	\$31,00	\$800,234.00	\$29,00	\$748,606.00	\$32.00	\$826,048.00
2	8° ASPHALT TREATED BASE (TXDOT 292 BLACK BASE), TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	27758	\$53,75	\$1,491,992.50	\$55,00	\$1,526,690.00	\$52.00	\$1,443,416.00
ALTE	RNATE BID NO. 3 ITEMS SUBTOTAL:				\$2,292,226.50		\$2,275,296,00		£2.000.404.00
BIDD	ING SUMMARY				V-,,		92,273,280,00		\$2,269,464.00
	OTAL PAVING IMPROVEMENT ITEMS-PERMIAN PARKWAY (MAGNOLIA WOODS MUD NO	11)			\$1,035,346.50				
	OTAL PAVING MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1)	,			\$569,655.00		\$1,348,282.90		\$1,095,630.80
	'L AMOUNT BASE BID				\$1,605,001.50		\$543,200.50		\$87,043.50
ALTE	RNATE BID NO. 1 ITEMS				#1,000,001.00		\$1,891,483.40		\$1,182,674.30
TOTA	L AMOUNT BASE BID				\$1,605,001.50		\$1,891,483.40		£4 450 674 00
SUBT	OTAL ALTERNATE BID NO. 1 ITEMS				\$1,422,574.00		\$1,345,132.00		\$1,182,674,30
TOTA	L AMOUNT BID INCLUDING ALTERNATE BID NO. 1				\$3,027,575.50		\$3,236,615.40		\$2,289,446,00 \$3,472,120.30
ALTE	RNATE BID NO. 2 ITEMS						***************************************		40,472,120.30
TOTA	L AMOUNT BASE BID				\$1,605,001.50		\$1,891,483.40		\$1,182,674.30
SUBT	OTAL ALTERNATE BID NO. 2 ITEMS				\$2,491,257.00		\$2,455,452.00		\$2,475,434.00
TOTA	L AMOUNT BID INCLUDING ALTERNATE BID NO. 2				\$4,096,258.50		\$4,346,935.40		\$3,658,108.30
ALTE	RNATE BID NO. 3 ITEMS						V 1/2 12/200110		45,030,100.30
TOTA	L AMOUNT BASE BID				\$1,605,001.50		\$1,891,483,40		£1 4P2 274 20
SUBT	OTAL ALTERNATE BID NO. 3 ITEMS				\$2,292,226.50		\$2,275,296.00		\$1,182,674.30
TOTA	L AMOUNG BID INCLUDING ALTERNATE BID NO. 3				\$3,897,228.00				\$2,269,464.00
					40,001,££8.00		\$4,166,779.40		\$3,452,138.30

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
JUNE 26, 2024 LJA ENGINEERING, INC. D. FORREST JUNE 27, 2024 1968-41000B (9.2)

			4) ICON G	CTC	5) R CONSTRUCT	ION CIVIL, LLC	6) CE BARK	ER LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING IMPROVEMENT ITEMS-PERMIAN PARKWAY (MAGNOLIA WOODS MUD NO.1)								
1 FULL CONSTRUCTION STAKING OF PAVING ITEMS, COMPLETE IN PLACE	LS	1	\$14,750.00	\$14,750.00	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00
2 6° REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	330	\$111.00	\$36,630.00	\$90.00	\$29,700.00	\$70.00	\$23,100.00
3 6" LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	475	\$6,70	\$3,182.50	\$13.00	\$6,175.00	\$8,50	\$4,037.50
4 LIME FOR SUBGRADE STABILIZATION (3% LIME BY WEIGHT 16 LB/SY PER 6° DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	3.8	\$381.00	\$1,447.80	\$370.00	\$1,406.00	\$340.00	\$1,292.00
5 FLY ASH MIXTURE FOR SUBGRADE STABILIZATIONN (8% FLY ASH BY WEIGHT, 42LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	10	\$144.00	\$1,440.00	\$160.00	\$1,600.00	\$165.00	\$1,650.00
6 MC 30 PRIME COAT, TXDOT SPEC 310, TO CURE FOR A MINIMUM OF 48/72 HOURS PRIOR TO PLACEMENT OF TIEM NO. 6, COMPLETE IN PLACE	GAL	8327	\$5.50	\$45,798.50	\$6.00	\$49,962.00	\$7.20	\$59,954,40
7 8" LIME/FLY ASH STABILIZED SUB-GRADE MANIPULATION FOR ASPHALT, INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	29700	\$4.40	\$130,680.00	\$5.50	\$163,350.00	\$8.50	\$252,450.00
8 LIME FOR SUBGRADE STABILIZATION FOR ASPHALT (3% LIME BY WEIGHT, 20LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	297	\$381.00	\$113,157.00	\$370.00	\$109,890.00	\$340.00	\$100,980.00
9 FLY ASH MIXTURE FOR SUBGRADE STABILIZATION FOR ASPHALT (8% FLY ASH BY WEIGHT, 53LB/SY PER 8° DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	787	\$144.00	\$113,328.00	\$160.00	\$125,920.00	\$165.00	\$129,855.00
10 6° REINFORCED CONCRETE CURB (PER MONTGOMERY COUNTY SPECIFICATIONS), COMPLETE IN PLACE	LF	78	\$13,60	\$1,060.80	\$4.25	\$331.50	\$3,15	\$245.70
11 6" REINFORCED CONCRETE CURB WITH STEEL PLATE (SEE DETAIL ON PLANS), COMPLETE IN PLACE	LF	1235	\$68.50	\$84,597,50	\$65,00	\$80,275.00	\$52.00	\$64,220.00
12 PERMANENT TRAFFIC CONTROL DEVICES AS PER DETAILS ON THE PLANS, INCLUDING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT STRIPING, MARKER, ETC., COMPLETE IN PLACE	LS	1	\$24,045.70	\$24,045.70	\$26,000.00	\$26,000.00	\$10,000.00	\$10,000.00
13 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	10	\$18.00	\$180.00	\$16,00	\$160,00	\$10.00	\$100,00
14 WHEELCHAIR RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	18	\$1,785.00	\$32,130.00	\$2,400.00	\$43,200.00	\$1,250.00	\$22,500.00
15 EXTRA SIGN, COMPLETE IN PLACE	EA	1	\$730,00	\$730.00	\$800.00	\$800.00	\$850,00	\$850.00
16 GUARDRAIL (AS PER TXDOT DETAILS ON PAGE 36), INCLUDES INSTALLING METAL BEAMS, MOW STRIP (PER SHEET 36) AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	870	\$99.00	\$86,130.00	\$160.00	\$139,200.00	\$80.00	\$69,600.00
17 REMOVE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$100.00	\$200.00	\$1,00	\$2.00	\$350,00	\$700.00
18 TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	11	\$120.00	\$1,320.00	\$1,200.00	\$13,200,00	\$750.00	\$8,250.00
19 FINAL GRADING OF ROADWAY, COMPLETE IN PLACE	LS	1	\$37,000.00	\$37,000.00	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS JUNE 28, 2024
LJA ENGINEERING, INC.
D. FORREST
JUNE 27, 2024
1968-41000B (9.2)

				(/					
				4) ICON G	C LTC	5) R CONSTRUCTI	ON CIVIL, LLC	6) CE BARK	ER LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
20	PAVING HEADER, AS PER MONTGOMERY COUNTY CRITERIA, COMPLETE IN PLACE	LF	278	\$2.40	\$667.20	\$23,00	\$6,394,00	\$35.00	\$9,730.00
21	COMMON ROADWAY EXCAVATION TO BE HAULED APPROXIMATELY 0.5 MILES USING OFF-ROAD TRUCKS TO ADJACENT SITE, INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	8630	\$7.00	\$60,410.00	\$4,40	\$37,972.00	\$10.00	\$86,300.00
22	IRRIGATION SLEEVE, 6" PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	1692	\$34.00	\$57,528.00	\$30,00	\$50,760.00	\$30,00	\$50,760.00
23	IRRIGATION SLEEVE,4" PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	675	\$23,00	\$15,525.00	\$25,00	\$16,875,00	\$28,00	\$18,900.00
24	CONNECT PROPOSED ASPHALT PAVEMENT TO EXISTING ASPHALT PAVEMENT AT FM 1486, INCLUDES 2 FOOT SAWCUT, AND ALL APPURTENANCES TO MAKE THE CONNECTION, COMPLETE IN PLACE	LF	65	\$38,00	\$2,470.00	\$55.00	\$3,575,00	\$100,00	\$6,500.00
25	AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, ROW, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LIA ENGINEERING, INC., BENJAMIN LOWE, 713.953.5293 ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS	1	\$13,500.00	\$13,500.00	\$13,500.00	\$13,500.00	\$13,500.00	\$13,500.00
26	TEMPORARY TRAFFIC CONTROL AS PER TXDOT STANDARDS FOR THE CONNECTION AT FM 1486, INCLUDING BARRELS, CONES, FLAGMEN,STRIPING, BUTTONS, TEMPORARY SIGNAGE, ETC. AS NEEDED TO MAKE CONNECTION AT EXISTING FM 1486, COMPLETE IN PLACE.	LS	1	\$3,000 00	\$3,000.00	\$26,000.00	\$26,000.00	\$1,500.00	\$1,500.00
27	10' WIDE, 4" REINFORCED CONCRETE WALKWAY TO BE FLUSH WITH ASPHALT PAVEMENT AT MEDIAN CROSSINGS, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	SY	186	\$84.00	\$11,904.00	\$74,00	\$13,764.00	\$65.00	\$12,090.00
PAVIN	NG IMPROVEMENT ITEMS-PERMIAN PARKWAY(MAGNOLIA WOODS MUD NO.1) SUBTO	TAL:			\$892,812.00		\$986,011.50		\$989,064,60
PAVI	NG MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1)								0000,000,000
1	STANDARD DEDUCT FOR STREET CLEANING, (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00
2	STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00
	SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OFDEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$8,000.00	\$8,000.00	\$8,500.00	\$8,500.00	\$15,000.00	\$15,000.00
	ADDITIONAL 8" LIME-FLY ASH STABILIZED SUB-GRADE FOR ASPHALT (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIEDPROCTOR DENSITY, COMPLETE IN PLACE	SY	29700	\$4.10	\$121,770.00	\$5.75	\$170,775.00	\$4,00	\$118,800.00
	ADDITIONAL LIME FOR SUBGRADE STABILIZATION FOR ASPHALT (3% LIME BY WEIGHT 20 LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	297	\$360,00	\$106,920.00	\$370.00	\$109,890.00	\$340.00	\$100,980,00
	ADDITIONAL CEMENT STABILIZIED FOR SUBGRADE STABILIZATION FOR ASPHALT (6% CEMENT STABILIZED SAND BY WEIGHT, 43.2 LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	641.5	\$323,00	\$207,204,50	\$305,00	\$195,657.50	\$225.00	\$144,337.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS JUNE 26, 2024 LJA ENGINEERING, INC. D. FORREST JUNE 27, 2024 1988-41000B (9.2)

			4) ICON G	C LLC	5) R CONSTRUCT	ION CIVIL, LLC	6) CE BARK	ER LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7 REGRADING OF EXISTING ROADSIDE DITCHES ALONG PERMIAN PARKWAY TO EXISTING OR BETTER CONDITIONS, (AS DIRECTED BY THE ENGINEER), COMP IN PLACE	D LF PLETE	6073	\$9.50	\$57,693.50	\$4,00	\$24,292.00	\$4,00	\$24,292.00
8 REGRADING, HAUL, AND SEEDING OF EXISTING ROADSIDE DITCH ALONG FM COMPLETE IN PLACE	1486, LF	120	\$30.00	\$3,600.00	\$20.00	\$2,400.00	\$15.00	\$1,800,00
PAVING MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1) SUBTOTAL:				\$505,188.00		\$511,514.50		\$405,209.50
ALTERNATE BID NO. 1 ITEMS						***************************************		\$403,E08,30
1 TYPE "D" HMAC PAVING, INCLUDING A TXDOT APPROVED TRAIL PRODUCT US AS A TACT COAT, COMPLETE IN PLACE	SED SY	25814	\$30,00	\$774,420.00	\$29.00	\$748,606,00	\$40.00	\$1,032,560.00
2 10" LIMESTONE FLEXIBLE BASE FOR ASPHALT, AS APPROVED BY GEOTECHN ENGINEER, COMPLETE IN PLACE	ICAL SY	27758	\$30.55	\$848,006.90	\$44.00	\$1,221,352.00	\$36,00	\$999,288.00
ALTERNATE BID NO. 1 ITEMS SUBTOTAL:				\$1,622,426.90		\$1,969,958.00		\$2,031,848.00
ALTERNATE BID NO. 2 ITEMS						***************************************		#2,031,040,00
1 TYPE "D" HMAC PAVING, INCLUDING A TXDOT APPROVED TRAIL PRODUCT US AS A TACT COAT, COMPLETE IN PLACE	ED SY	25814	\$30,00	\$774,420,00	\$29.00	\$748,606.00	\$30.00	\$774,420.00
2 10" ASPHALT TREATED BASE (TXDOT 292 BLACK BASE), TO BE USED ONLY AT DIRECTION OF THE ENGINEER, COMPLETE IN PLACE.	THE SY	27758	\$76.55	\$2,124,874.90	\$73,00	\$2,026,334.00	\$88.00	\$2,442,704.00
ALTERNATE BID NO. 2 ITEMS SUBTOTAL:				\$2,899,294.90		\$2 774 040 00		
ALTERNATE BID NO. 3 ITEMS				42,000,204.00		\$2,774,940.00		\$3,217,124.00
1 TYPE "D" "4" HMAC PAVING, INCLUDING A TXDOT APPROVED TRAIL PRODUCT USED AS A TACT COAT, COMPLETE IN PLACE	SY	25814	\$37.00	\$955,118.00	\$35.00	\$903,490.00	\$40.00	\$1,032,560,00
2 8" ASPHALT TREATED BASE (TXDOT 292 BLACK BASE), TO BE USED ONLY AT DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	THE SY	27758	\$61.25	\$1,700,177.50	\$58.00	\$1,609,964,00	\$74.00	\$2,054,092.00
ALTERNATE BID NO. 3 ITEMS SUBTOTAL:				\$2,655,295.50		\$2,513,454.00		\$3,086,652.00
BIDDING SUMMARY								
SUBTOTAL PAVING IMPROVEMENT ITEMS-PERMIAN PARKWAY (MAGNOLIA WOODS M	IUD NO.1)			\$892,812.00		\$986,011.50		\$989,064.60
SUBTOTAL PAVING MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1)				\$505,188.00		\$511,514,50		\$405,209.50
TOATL AMOUNT BASE BID				\$1,398,000.00		\$1,497,526.00		\$1,394,274.10
ALTERNATE BID NO. 1 ITEMS								41,007,274.10
TOTAL AMOUNT BASE BID				\$1,398,000.00		\$1,497,526.00		\$1,394,274.10
SUBTOTAL ALTERNATE BID NO. 1 ITEMS				\$1,622,426.90		\$1,969,958.00		\$2,031,848.00
TOTAL AMOUNT BID INCLUDING ALTERNATE BID NO. 1				\$3,020,426.90		\$3,467,484.00		\$3,426,122.10
ALTERNATE BID NO. 2 ITEMS								
TOTAL AMOUNT BASE BID				\$1,398,000.00		\$1,497,526.00		\$1,394,274.10
SUBTOTAL ALTERNATE BID NO. 2 ITEMS				\$2,899,294.90		\$2,774,940.00		\$3,217,124.00
TOTAL AMOUNT BID INCLUDING ALTERNATE BID NO. 2				\$4,297,294.90		\$4,272,466.00		\$4,611,398.10
ALTERNATE BID NO. 3 ITEMS								
TOTAL AMOUNT BASE BID				\$1,398,000.00		\$1,497,526.00		\$1,394,274.10
SUBTOTAL ALTERNATE BID NO. 3 ITEMS				\$2,655,295.50		\$2,513,454.00		\$3,086,652.00
TOTAL AMOUNG BID INCLUDING ALTERNATE BID NO. 3				\$4,053,295.50		\$4,010,980.00		\$4,480,926.10

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
JUNE 26, 2024
LJA ENGINEERING, INC.
D. FORREST
JUNE 27, 2024
1968-41000B (9.2)

7) TLC CONSTRUCTION CONTRACT SERVICES, INC.

				SERVICES	, INC.
ITEM		UNIT	QTY	UNIT COST	TOTAL COST
	NG IMPROVEMENT ITEMS-PERMIAN PARKWAY(MAGNOLIA WOODS MUD NO.1)				
1	FULL CONSTRUCTION STAKING OF PAVING ITEMS, COMPLETE IN PLACE	LS	1	\$24,000.00	\$24,000.00
2	6° REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	330	\$82.00	\$27,060.00
3	6° LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	475	\$10,00	\$4,750.00
4	LIME FOR SUBGRADE STABILIZATION (3% LIME BY WEIGHT 16 LB/SY PER 6° DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	3.8	\$413.00	\$1,569.40
5	FLY ASH MIXTURE FOR SUBGRADE STABILIZATIONN (8% FLY ASH BY WEIGHT, 42LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	10	\$150.00	\$1,500.00
6	MC 30 PRIME COAT, TXDOT SPEC 310, TO CURE FOR A MINIMUM OF 48/72 HOURS PRIOR TO PLACEMENT OF TIEM NO. 6, COMPLETE IN PLACE	GAL	8327	\$10.00	\$83,270.00
7	8" LIME/FLY ASH STABILIZED SUB-GRADE MANIPULATION FOR ASPHALT, INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	29700	\$8.00	\$237,600.00
8	LIME FOR SUBGRADE STABILIZATION FOR ASPHALT (3% LIME BY WEIGHT, 20LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	297	\$413.00	\$122,661.00
9	FLY ASH MIXTURE FOR SUBGRADE STABILIZATION FOR ASPHALT (8% FLY ASH BY WEIGHT, 53LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	787	\$150.00	\$118,050.00
10	6° REINFORCED CONCRETE CURB (PER MONTGOMERY COUNTY SPECIFICATIONS), COMPLETE IN PLACE	LF	78	\$8.00	\$624.00
11	6° REINFORCED CONCRETE CURB WITH STEEL PLATE (SEE DETAIL ON PLANS), COMPLETE IN PLACE	LF	1235	\$75,00	\$92,625.00
12	PERMANENT TRAFFIC CONTROL DEVICES AS PER DETAILS ON THE PLANS, INCLUDING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT STRIPING, MARKER, ETC., COMPLETE IN PLACE	LS	1	\$25,845.00	\$25,845.00
13	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	10	\$18.00	\$180,00
14	WHEELCHAIR RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	18	\$2,670.00	\$48,060.00
15	EXTRA SIGN, COMPLETE IN PLACE	EA	1	\$720.00	\$720.00
16	GUARDRAIL (AS PER TXDOT DETAILS ON PAGE 36), INCLUDES INSTALLING METAL BEAMS, MOW STRIP (PER SHEET 36) AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	870	\$95.00	\$82,650.00
17	REMOVE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$60.00	\$120,00
18	TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	11	\$1,206.00	\$13,266.00
19	FINAL GRADING OF ROADWAY, COMPLETE IN PLACE	LS	1	\$64,047.00	\$64,047.00

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS JUNE 26, 2024 LJA ENGINEERING, INC. D. FORREST JUNE 27, 2024 1988-41000B (9.2)

7) TLC CONSTRUCTION CONTRACT SERVICES, INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
20	PAVING HEADER, AS PER MONTGOMERY COUNTY CRITERIA, COMPLETE IN PLACE	LF	278	\$21.00	\$5,838.00
21	COMMON ROADWAY EXCAVATION TO BE HAULED APPROXIMATELY 0.5 MILES USING OFF-ROAD TRUCKS TO ADJACENT SITE, INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	8630	\$26,00	\$224,380.00
22	IRRIGATION SLEEVE, 6° PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	1692	\$47,00	\$79,524.00
23	IRRIGATION SLEEVE,4" PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	675	\$43.00	\$29,025.00
24	CONNECT PROPOSED ASPHALT PAVEMENT TO EXISTING ASPHALT PAVEMENT AT FM 1486, INCLUDES 2 FOOT SAWCUT, AND ALL APPURTENANCES TO MAKE THE CONNECTION, COMPLETE IN PLACE	LF	65	\$7.00	\$455.00
25	AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, ROW, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LIA ENGINEERING, INC., BENJAMIN LOWE, 713.953.5293 ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS	1	\$13,500.00	\$13,500.00
26	TEMPORARY TRAFFIC CONTROL AS PER TXDOT STANDARDS FOR THE CONNECTION AT FM 1486, INCLUDING BARRELS, CONES, FLAGMEN,STRIPING, BUTTONS, TEMPORARY SIGNAGE, ETC. AS NEEDED TO MAKE CONNECTION AT EXISTING FM 1486, COMPLETE IN PLACE.	LS	1	\$2,976.00	\$2,976.00
27	10' WIDE, 4" REINFORCED CONCRETE WALKWAY TO BE FLUSH WITH ASPHALT PAVEMENT AT MEDIAN CROSSINGS, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	SY	186	\$130.00	\$24,180.00
PAVIN	G IMPROVEMENT ITEMS-PERIMAN PARKWAY(MAGNOLIA WOODS MUD NO.1) SUBTO	TAL:			\$1,328,275.40
PAVIN	IG MISCELLANEOUS ITEMS - (MAGNOLIA WOODS MUD NO. 1)				
1	STANDARD DEDUCT FOR STREET CLEANING, (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	\$150.00	\$0.00
2	STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	\$75.00	\$0.00
	SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OFDEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$14,798.00	\$14,798.00
4	ADDITIONAL 8" LIME-FLY ASH STABILIZED SUB-GRADE FOR ASPHALT (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIEDPROCTOR DENSITY, COMPLETE IN PLACE	SY	29700	\$7.00	\$207,900.00
	ADDITIONAL LIME FOR SUBGRADE STABILIZATION FOR ASPHALT (3% LIME BY WEIGHT 20 LB/SY PER 6" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	297	\$413.00	\$122,661.00
	ADDITIONAL CEMENT STABILIZIED FOR SUBGRADE STABILIZATION FOR ASPHALT (6% CEMENT STABILIZED SAND BY WEIGHT, 43.2 LB/SY PER 8" DEPTH), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	641.5	\$354.00	\$227,091.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE PERMIAN PARKWAY
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 1
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
JUNE 28, 2024
LJA ENGINEERING, INC.
D. FORREST
JUNE 27, 2024
1988-41000B (9.2)

7) TLC CONSTRUCTION CONTRACT SERVICES, INC.

				SERVICES	, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
7 REGRADING OF EXISTING ROA EXISTING OR BETTER CONDIT IN PLACE	ADSIDE DITCHES ALONG PERMIAN PARKWAY TO IONS, (AS DIRECTED BY THE ENGINEER), COMPLETE	LF	6073	\$7.00	\$42,511.00
8 REGRADING, HAUL, AND SEED COMPLETE IN PLACE	ING OF EXISTING ROADSIDE DITCH ALONG FM 1488,	LF	120	\$24.00	\$2,880.00
PAVING MISCELLANEOUS ITEMS - (M	IAGNOLIA WOODS MUD NO. 1) SUBTOTAL:				\$617,841.00
ALTERNATE BID NO. 1 ITEMS					
1 TYPE "D" HMAC PAVING, INCLU AS A TACT COAT, COMPLETE I	JDING A TXDOT APPROVED TRAIL PRODUCT USED N PLACE	SY	25814	\$31.00	\$800,234.00
2 10" LIMESTONE FLEXIBLE BASI ENGINEER, COMPLETE IN PLACE	E FOR ASPHALT, AS APPROVED BY GEOTECHNICAL CE	SY	27758	\$36.00	\$999,288.00
ALTERNATE BID NO. 1 ITEMS SUBTO	TAL:				\$1,799,522.00
ALTERNATE BID NO. 2 ITEMS					
1 TYPE "D" HMAC PAVING, INCLU AS A TACT COAT, COMPLETE I	IDING A TXDOT APPROVED TRAIL PRODUCT USED N PLACE	SY	25814	\$31.00	\$800,234.00
2 10" ASPHALT TREATED BASE (DIRECTION OF THE ENGINEER.	TXDOT 292 BLACK BASE), TO BE USED ONLY AT THE , COMPLETE IN PLACE,	SY	27758	\$87.00	\$2,414,946.00
TERNATE BID NO. 2 ITEMS SUBTO	TAL:				\$3,215,180.00
LTERNATE BID NO. 3 ITEMS					
1 TYPE "D" "4" HMAC PAVING, INC USED AS A TACT COAT, COMPI	CLUDING A TXDOT APPROVED TRAIL PRODUCT LETE IN PLACE	SY	25814	\$40.00	\$1,032,560.00
2 8" ASPHALT TREATED BASE (TO DIRECTION OF THE ENGINEER,	XDOT 292 BLACK BASE), TO BE USED ONLY AT THE COMPLETE IN PLACE	SY	27758	\$69,00	\$1,915,302.00
LTERNATE BID NO. 3 ITEMS SUBTO	TAL:				\$2,947,862.00
IDDING SUMMARY					
BTOTAL PAVING IMPROVEMENT IT	EMS-PERMIAN PARKWAY(MAGNOLIA WOODS MUD NO	0.1)			\$1,328,275.40
IBTOTAL PAVING MISCELLANEOUS	ITEMS - (MAGNOLIA WOODS MUD NO. 1)				\$617,841.00
DATL AMOUNT BASE BID					\$1,946,116.40
TERNATE BID NO. 1 ITEMS					
TAL AMOUNT BASE BID					\$1,946,116.40
BTOTAL ALTERNATE BID NO. 1 ITE	MS				\$1,799,522.00
TAL AMOUNT BID INCLUDING ALTE	ERNATE BID NO. 1				\$3,745,638.40
ERNATE BID NO. 2 ITEMS					
TAL AMOUNT BASE BID					\$1,946,116.40
TOTAL ALTERNATE BID NO. 2 ITE	MS				\$3,215,180.00
TAL AMOUNT BID INCLUDING ALTE	ERNATE BID NO. 2				\$5,161,296.40
TERNATE BID NO. 3 ITEMS					
OTAL AMOUNT BASE BID					\$1,946,116.40
UBTOTAL ALTERNATE BID NO. 3 ITEI	MS				\$2,947,862.00
TOTAL AMOUNG BID INCLUDING ALTI	ERNATE BID NO. 3				\$4,893,978.40
					4-1-201210:40